
Distance and Bearing between 2 Airplanes 

The US Army defines the bearing from Point X to Point Y as the angle between a ray in the 

direction of north or south (whose origin is Point X) and Ray XY (the ray whose origin is Point X and 

which contains Point Y.)  The bearing consists of 2 characters and 1 number - First, the character is 

either N (north) or S (south).  Second is the angle value (in degrees). Third, the character represents 

the direction of the angle away from the reference ray - thus, either E (east) or W (west). The 

angle value will always be less than 90 degrees. For example, if Point Y is located exactly 

southeast of Point X, the bearing from Point X to Point Y is S 45° E.    

  

  

 

 

 

                                                                                                                                                 

                  

 

 

 

 

A. Find the distance between the two planes after 5 hours.  (𝒅𝒊𝒔𝒕𝒂𝒏𝒄𝒆 = 𝒓𝒂𝒕𝒆 ∙ 𝒕𝒊𝒎𝒆) 

  𝑃𝑙𝑎𝑛𝑒 𝐴 ℎ𝑎𝑠 𝑡𝑟𝑎𝑣𝑒𝑙𝑙𝑒𝑑 (215𝑚𝑝ℎ)(5 ℎ𝑜𝑢𝑟𝑠) = 1075 𝑚𝑖𝑙𝑒𝑠 

  𝑃𝑙𝑎𝑛𝑒 𝐵 ℎ𝑎𝑠 𝑡𝑟𝑎𝑣𝑒𝑙𝑙𝑒𝑑 (275𝑚𝑝ℎ)(5 ℎ𝑜𝑢𝑟𝑠) =  1375 𝑚𝑖𝑙𝑒𝑠 

  Distance     𝑑 =  √(1075)2 + (1375)2   =  𝟏𝟕𝟒𝟓 𝒎𝒊𝒍𝒆𝒔 

 

B. What is the Bearing from Plane B to Plane A after 5 hours?   𝑺 _______𝑾 

  𝐵𝑒𝑎𝑟𝑖𝑛𝑔 = 180° − 45° − arctan (
1375

1075
) = 135° − 51.981° =   83.0° 

  𝑆𝑜 𝑡ℎ𝑒  𝑩𝒆𝒂𝒓𝒊𝒏𝒈 𝒇𝒓𝒐𝒎 𝑷𝒍𝒂𝒏𝒆 𝑩 𝒕𝒐 𝑷𝒍𝒂𝒏𝒆 𝑨 = 𝑺 𝟖𝟑. 𝟎° 𝑾 

𝑷𝒍𝒂𝒏𝒆 𝑨 𝑖𝑠 𝑡𝑟𝑎𝑣𝑒𝑙𝑙𝑖𝑛𝑔 𝑆 45° 𝐸 𝑎𝑡 215 𝑚𝑝ℎ. 𝑷𝒍𝒂𝒏𝒆 𝑩 𝑖𝑠 𝑡𝑟𝑎𝑣𝑒𝑙𝑙𝑖𝑛𝑔 𝑆 45° 𝑊 𝑎𝑡 275 𝑚𝑝ℎ. 

Find the Distance and Bearing between Planes B and A           
5 hours after they have departed from the same Airport  

(Airport = Point of Origin) 
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https://en.wikipedia.org/wiki/Line_%28mathematics%29#Ray

